Assignment 11 \square (D (a) IB $cov(\varepsilon) = \sigma^2 V$, $E(\eta) = still XB, so$ $E(\hat{\beta}) = E((X'X)^{-1}X'B) = (X'X)^{-1}X'E(B)$ $= (X'X)^{-1}X'XB = B, so yos.$ (b) $cov(\beta') = cov((x'x)'+iy) = (x'x)'x'(ou(y)((x'x)'x')')$ $= (X'X)^{-1} X' \sigma^2 V X (X'X)^{-1}$ $= \sigma^{2}(x'x)^{-1}X'VX(x'x)^{-1}$ (c) y=xp+E =>V-zy=V-zxp+V-zE= $\implies y^* = \chi^* \beta + \varepsilon^*$ $Cov(E*) = Cov(V^{-\frac{1}{2}}E) = V^{-\frac{1}{2}}Cov(E)V^{-\frac{1}{2}}$ = V-12 52 V V-2 = 52 In (d) $\vec{\beta}_{gls} = (X^* X^*)^{-1} X^* \beta^* = ((V^{-\frac{1}{2}}X)^{-\frac{1}{2}}X)^{-\frac{1}{2}} V^{-\frac{1}{2}} \beta$ $= (X'V^{-\frac{1}{2}}V^{-\frac{1}{2}}X)'X'V^{-\frac{1}{2}}V^{-\frac{1}{2}}y$ $= (X'V^{-\frac{1}{2}}V^{-\frac{1}{2}}X)^{-1}X'V^{-\frac{1}{2}}V^{-\frac{1}{2}}g$ = (X'V'X)'X'V''S

(1e) Because By = Ay # g-N, (XB, 521) Pages is multivariate normal. $E(\vec{p}_{ges}) = E \frac{1}{2} (x'v'') \frac{1}{2} x'v'' \frac{1}{3}$ = (x'v''x)'x'v''E(y) = (x'v''x)'x'v''x, B= P and Gov (Bges) = cov Z(x'v-'x)-'x'v-'b3 $= (x'v'x)^{-1}x'v^{-1}cov_{2} + 3^{-1}(x'v'x)^{-1}x'v^{-1})^{-1}$ = (x'v'x)'x'v' = 2V V'X (x'V'x)-1 = 5 2 (X'V'X) - X 'V - V V'- X (X'V'X) -1 $= G^{2}(X'V'X)'X'V''VV'X(X'V''X)'$ = 5 2 (X'V'X) 1 X'V'X, (X'V''X)-1 = 5 2 (X'V'X) -1 , SO $\vec{P}_{ges} \sim \mathcal{N}\left(\vec{P}, \sigma^{2}(X'V'X)^{-1}\right)$

(1f) Kes, Because E(y) = XP and the calculation of E(Pges) is the seme as in Problem le. (3) i) $H^* = X^* (X^* X^*)^{-1} X^{*-1}$ $= V^{-\frac{1}{2}} \chi \left(V^{-\frac{1}{2}} \chi \right) \left(V^{-\frac{1}{2}} \chi \right)^{-1} \left(V^{-\frac{1}{2}} \chi \right)^{-1}$ $= V^{-\frac{1}{2}} X (X' V' X)^{-1} X' V^{-\frac{1}{2}}$ Symmetric ? $\left(V^{-\frac{1}{2}} \times (X'V'X)^{-1} \times V^{-\frac{1}{2}}\right)^{-1}$ $= V^{-\frac{1}{2}'} X (X'V'X)^{-\frac{1}{2}'} X'V^{-\frac{1}{2}'}$ $= V^{-\frac{1}{2}} \times (X'V'X)^{-1} \times V^{-\frac{1}{2}} = H^{\frac{1}{2}}, \underline{Y_{e_3}}$ I dompotent? H*H* $= V^{-\frac{1}{2}} X(X'V'X) X'V^{-\frac{1}{2}} V^{-\frac{1}{2}} X(X'V'X) X'V^{-\frac{1}{2}}$ = V-2 X(X'V-2X)-X'V-1X (X'V-1X)-X'V-2 $= V^{-\frac{1}{2}} X (X'V^{-\frac{1}{2}})^{-\frac{1}{2}} X'V^{-\frac{1}{2}} = H^{\frac{1}{2}}, Y_{es}$

 $(13i) \hat{y}^* = X^* \hat{\beta}_{gls} = V^{-\frac{1}{2}} X (X V^{-1} X)^{-1} X V^{-1} y$ $= H^* y^* \underbrace{oh}_{HY}$

 $(iii) \vec{e}^* = y^* - \vec{b}^* = V^{-\frac{1}{2}}y - V^{-\frac{1}{2}} \times (\chi' V' \chi)^{-1} V^{-1} y$ $= (I - V^{-\frac{1}{2}} X (X'V'X)^{-1} V^{-\frac{1}{2}}) V^{-\frac{1}{2}} y$ = (I-H*) 1 * OHAY

(1v) writing $\vec{z}^* = (\beta^* - \chi^* \vec{\beta}_{3ls} = V^{-\frac{1}{2}} (\beta - \chi \vec{\beta}_{3ls}))$ $SSE^* = \tilde{\varepsilon}^* \tilde{\varepsilon} = \left(V^{-\frac{1}{2}} \left(g - \chi \tilde{\beta}_{ges} \right) \right) \left(V^{-\frac{1}{2}} \left(g - \chi \tilde{\beta}_{ges} \right) \right)$ = (g - X P3es) V- = V- = (g - X P3es)

= (13-XPges)'V'(13-XPges) as required

(19V) $F^{*} = \frac{(c\hat{B}_{gRS} - t)(c'(x^{*}x^{*})^{-}c')^{-}(c\hat{B}_{gRS} - t)}{(c\hat{B}_{gRS} - t)}$ & MSE* $(C\hat{\beta}_{ges}-t)'(C(X'V'X)'C')'(C\hat{\beta}_{es}-t)$ $\left(\frac{\mathcal{B}}{n-\mathcal{R}-1}\right)\left(\mathcal{B}-\chi\hat{\beta}_{es}\right)V'(\mathcal{B}-\chi\hat{\beta}_{es})$

 $\overline{\mathcal{Z}}(q) \mathcal{W}_{i} \sim \mathcal{N}\left(\mathcal{P}_{0} + \mathcal{P}_{i} \mathcal{X}_{i} + - + \mathcal{P}_{k} \mathcal{X}_{ik}, \mathcal{G}^{2} \mathcal{W}_{i}\right)$ (b) i) $X_{i,0}^* = \frac{1}{\sqrt{D_i^2}}$ $ii) E(\varepsilon_i^*) = E(\overline{\sqrt{v_i}} \varepsilon_i) = 0 \text{ and }$ $Van(E_i^*) = Van(\frac{1}{Vv_i}E_i) = \frac{1}{v_i}Van(E_i)$ $= \frac{1}{v_i} \sigma^2 v_i = \sigma^2$ So EX~ N(0, 52), still independent, 50 E,*, -, E* 10 N(0, 52)

Because functions of independent random variables are independent.

(2c) Least squares estimates for standed [7] are obtained by minimizing $Q(\vec{\beta}) = \sum_{i=1}^{n} \left(\gamma_{i}^{*} - \vec{\beta} \chi_{i}^{*} - \vec{\beta} \chi_{i}^{*} - \cdots - \vec{\beta} \chi_{i}^{*} \right)^{2}$ $=\sum_{i=1}^{n}\left(\frac{1}{\sqrt{y_{i}}},y_{i}-\hat{\beta},\overline{y_{i}}-\hat{\beta},\overline{y_{i}},x_{i}-\frac{1}{\sqrt{y_{i}}},x_{i}\right)$ $=\sum_{i=1}^{n}\left(\frac{1}{\mathcal{W}_{i}}\left(\beta_{i}-\widehat{\beta}_{o}-\widehat{\beta}_{i}\chi_{i}-\cdots-\widehat{\beta}_{k}\chi_{ik}\right)\right)^{2}$ $= \sum_{i=1}^{n} \frac{1}{v_{i}} \left(\beta_{i} - \beta_{o} - \beta_{i} x_{i} - \cdots - \beta_{n} x_{in} \right)^{2}$ $= \sum_{i=1}^{n} \frac{1}{v_i} \tilde{\varepsilon}_i^2 = \sum_{i=1}^{n} w_i \tilde{\varepsilon}_i^2, \quad where$ $w_i = \frac{1}{v_i} \quad \text{for } i = l_j - j \quad n$

 $\overline{3} \overline{3} = \mu + \varepsilon,$ $\overline{\mathcal{F}} = \begin{pmatrix} I \\ I \end{pmatrix} \mu + \begin{pmatrix} \varepsilon_{I} \\ \vdots \\ \varepsilon_{m} \end{pmatrix}$ $V = \begin{pmatrix} \frac{1}{n_1} & 0 \\ \frac{1}{n_2} & 0 \\ 0 & \frac{1}{n_m} \end{pmatrix} \neq V' = \begin{pmatrix} n_1 & 0 \\ n_2 & 0 \\ 0 & n_m \end{pmatrix}$ B3es = (X'V'X) X'V'F $= \left(\left(1 - 1 \right) V'' \left(\frac{1}{2} \right) \right) \left(1 - 1 \right) V'' \left(\frac{1}{5m} \right)$ $= \left(\sum_{j=1}^{m} n_{j}\right)^{-1} \left(n_{1} n_{2} - n_{m}\right) \left(\sum_{j=1}^{m} n_{j}\right) \left(n_{1} - n_{m}\right)^{-1} \left(n_{1} n_{2} - n_{m}\right) \left(n_{1} - n_{m}\right)^{-1} \left(n_{1} n_{2} - n_{m}\right)^{-1} \left(n_{1} - n$ $=\sum_{j=1}^{m}n_j\cdot\overline{s}_j$ Chedez. Mn,

 $(4)(q) \quad \mathcal{D}_i = \beta \, \chi_i + \varepsilon_i$ 9 $\Longrightarrow \pm h_i = \beta \pm x_i + \pm \varepsilon_i$ $\implies 3_{i}^{*} = \beta + \varepsilon_{i}^{*}, V_{M}(\varepsilon_{i}^{*}) = \sigma^{2}$ So gi, -, gin i'v M(B, 52) and the least squares estimate of B is $\overline{g}^* = \overline{n} \sum_{i=1}^n \frac{y_i}{\overline{x_i}}$ Using calculus, minimize the grantity of Question 20 $\mathcal{G}(\vec{p}) = \sum_{i=1}^{n} w_i \vec{z}_i^2 = \sum_{i=1}^{n} \vec{x}_i^2 \left(y_i - \vec{p} x_i \right)^2$ $\frac{dG}{dB} = \sum_{i=1}^{n} \frac{1}{x_{i}^{2}} 2(n_{i} - \beta x_{i})(-x_{i})$ $= -2 \sum_{i=1}^{n} \frac{1}{x_{i}} (y_{i} - \beta x_{i})$ $= -2\left(\sum_{i=1}^{n} \frac{x_{i}}{x_{i}} - n\beta\right) \stackrel{\text{red}}{=} 0$ $\Longrightarrow \beta = n \sum_{i=1}^{n} \frac{2n}{x_i}$ End derivation test $\frac{d^2 \varphi}{d \beta^2} = -2(0-n) = 2n > 0$ Concave up, MINIMUM

(4b) Have $X = \begin{pmatrix} x_1 \\ i \\ x_n \end{pmatrix}, V = \begin{pmatrix} x_1^2 \\ x_2^2 \\ 0 \\ x_n^2 \end{pmatrix}$ $A_{B_{3's}} = (X'v'X) X'v''y$ $= \left((x_1 - x_n) \begin{pmatrix} y_{x_1^2} & y_{x_2^2} \\ 0 & y_{x_2^2} \end{pmatrix} \begin{pmatrix} x_1 \\ i \\ x_n \end{pmatrix} \right)$ $(\chi_1 - \chi_n) \begin{pmatrix} V_{\chi_1^2} \\ V_{\chi_2^2} \\ 0 & V_{\chi_2^2} \end{pmatrix} \begin{pmatrix} v_1 \\ v_1 \\ v_2 \\ v_n \end{pmatrix} \begin{pmatrix} v_1 \\ v_n \\ v_n \end{pmatrix}$ $-\left(\frac{1}{x_{1}},\frac{1}{x_{2}},-\frac{1}{x_{n}}\right)\left(\frac{1}{x_{n}}\right)\left(\frac{1}{x_{n}},\frac{1}{x_{2}},-\frac{1}{x_{n}}\right)\left(\frac{1}{x_{n}}\right)$ $= n^{-1} \left(\frac{x_{1}}{x_{1}} + \frac{x_{2}}{x_{2}} + - + \frac{x_{n}}{x_{n}} \right)$ = h Z Ti Check

5 (9) \$= 0.2014. Not guite: P= 0.0524 (b) Pues = 0.2304 Yes, P=0.0263 (C) mean (1/2) = 0.2304109

6) (a) $\mathcal{J}_i = \mathcal{B}_o + \mathcal{B}_i \mathbf{X}_i - \mathcal{B}_i \mathbf{X}_i + \mathcal{B}_i \mathbf{X}_i + \mathcal{E}_i$ $= (\beta_0 + \beta_1 \overline{x}) + \beta_1 (2(-\overline{x}) + \varepsilon;$ $\alpha_0 + \alpha_1(\chi_i - \bar{\chi}) + \varepsilon_i$ -So $d_0 = \beta_0 + \beta_1 \overline{x}, \quad \prec_1 = \beta_1$ (b) For the uncentered model, X = For the centered model, $W = \begin{pmatrix} 1 & 2c_1 - \overline{x} \\ 1 & x_2 - \overline{x} \\ 1 & 1 \\ 1 & x_n - \overline{x} \end{pmatrix}$ $\begin{pmatrix} 1 & \chi_1 \\ 1 & \chi_2 \\ \vdots & \vdots \\ 1 & \chi_n \end{pmatrix} \begin{pmatrix} 1 & -\bar{\chi} \\ 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 & \chi_1 - \bar{\chi} \\ 1 & \chi_2 - \bar{\chi} \\ \vdots & \vdots \\ 1 & \chi_n - \bar{\chi} \end{vmatrix}$ (\subset)

 $\begin{pmatrix} 6 & d \end{pmatrix} \quad V_{\text{enifying that}} \begin{pmatrix} 1 & \overline{x} \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & -\overline{x} \\ 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix},$ $\begin{array}{c} \hline 13 \\ \hline 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix},$ $\begin{array}{c} \hline 13 \\ \hline 13 \\$ $\begin{array}{c} \left(\begin{array}{c} 1 & \overline{z} \\ \end{array} \right) \\ A^{-1}\beta = \left(\begin{array}{c} 1 & \overline{z} \\ 0 & 1 \end{array} \right) \left(\begin{array}{c} \beta_{0} \\ \beta_{1} \end{array} \right) = \left(\begin{array}{c} \beta_{0} + \beta_{1} \overline{z} \\ \beta_{1} \end{array} \right) = \left(\begin{array}{c} \alpha_{0} \\ \alpha_{1} \end{array} \right) \\ \end{array} \right)$ $(\overline{\mathcal{F}}) = \sum_{i=1}^{n} (\mathcal{F}_{i} - \mathcal{F}_{o} - \mathcal{F}_{i}(\mathcal{X}_{i}, -\mathcal{X}_{i}) - \cdots - \mathcal{F}_{z}(\mathcal{X}_{iz} - \mathcal{X}_{z}))^{2}$ $\frac{d\varphi}{d\beta} = \sum_{i=1}^{n} 2\left(y_i - \beta - \beta_i(x_i, \overline{x_i}) - \cdots - \beta_k(x_{ik}, \overline{x_k})\right)(-1)$ $= -2\left(\sum_{i=1}^{n} \gamma_{i} - \sum_{i=1}^{n} \beta_{i} - \beta_{i} \sum_{i=1}^{n} (\chi_{i} - \bar{\chi}_{i}) - \cdots - \beta_{k} \sum_{i=1}^{n} (\chi_{i} - \bar{\chi}_{k})\right)$ $= -2\left(\sum_{i=1}^{n} b_{i} - n\beta_{0} - 0 - 0 - 0\right)^{=0}$ $= -2\left(\frac{\tilde{z}_{0}}{\tilde{z}_{0}}, -n\beta_{0}\right) \xrightarrow{\text{red}} 0 \implies \beta_{0} = \frac{\tilde{z}_{0}}{\tilde{z}_{0}} = 5$ 2 nd Derivativo test $\frac{\partial^2 q}{\partial B^2} = -2(0-n) = 2n > 0$ Concare UP, minimum, So A = 5

14 $(9) \stackrel{\sim}{\approx} = (w'w)'w'y$ $= \left(\left(XA \right)'XA \right)^{-1} \left(XX \right)'y = \left(A'XXA \right)^{-1} A'X'y$ $= A^{-'}(X'X)^{-'}(A')^{-'}A'X'S = A^{-'}(X'X)^{-'}X'S$ $= A^{-\prime} \beta^{\prime}$ (b) $\vec{b} = W\vec{a} = XAA^{-'}\vec{\beta} = X\vec{\beta}$ Same z $(c) \quad H_{o}: CB = t \iff CAA^{-}B = t$ $(=) CA = t = C_2 = t, C_2 = CA$ (d) For Ho! Czd=t, $F^* = (C_2\hat{\alpha}_- t)'(C_2(WW)C_2)(C_2\hat{\alpha}_- t)/(gMSE)$ $= (CAA^{-1}\beta^{-1})(CA((YA)XA)^{-1}(CA)^{-1})(CAA^{-1}\beta^{-1})/(gMSE)$ $= (c\vec{p}-t)'(cA(A'\times XA)A'c')(c\vec{p}-t)/(gMSE)$ $= (C\hat{\beta} - A)'(CAA''(X'X)'(A')A'C')'(C\hat{\beta} - A)/(gMSE)$ = F * for Ho! CB=t Note MSE is the same he cano B

9. For this question, I needed to look at the following quite a few times.

Package	d_1	d_2	$E(y \mathbf{x})$
1	1	0	$(\beta_0 + \beta_2) + (\beta_1 + \beta_4)x$
2	0	1	$(\beta_0 + \beta_3) + (\beta_1 + \beta_5)x$
3	0	0	$\beta_0 + \beta_1 x$

 $y = \beta_0 + \beta_1 x + \beta_2 d_1 + \beta_3 d_2 + \beta_4 d_1 x + \beta_5 d_2 x + \epsilon$

Effect of Group Depends on x



(9a) Ecotions at the table and setting the three expected values equal at $X = \overline{X}$, get 6 Ho: $\beta_2 + \beta_4 \bar{x} = \beta_3 + \beta_5 \bar{x} = 0$ Using flest(), get F=0.616, P=0.5468 There is no evidence that type of software package affects sales this granter, for sales reps with average performance last guarter. (b) F=0.616 again, and it's a lot easier. (C) Get F=5.889, P=0.00696 For sales reps who sold 85 units last guarter, type of Software package has an effect on sales this granter. (d) For package 1 us 3, I get t = 1.177, P=0.2485 For package Z vs 3, I get t = -1.802, 1=0.0816 For package 1 vs 2, F= 11.778, P=0.0018 with the Bonferroni correction, P=0.0018 +3 ~ 0.005, 50 Conclude that for representatives with sales last granter og 85 units, USP og Software package, nould be expected to yield higher sales this granter than suffuers package 2. Get the directional conclusion from looking at the plot, or looking at the table and noting that B2>0 while P3<0.